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QUESTION BANK

What is the hybridisation of carbocation?
a) SP3 b) SP?

c) SP d) SP3d

What is the hybridisation of carbanion?

a) SP3 b) SP?
c) SP d) SP3d
The shape of carbocation is

a) Trigonal planar b)linear
c) pyramidal d) bent

Identify the name of rearrangement in the following reaction
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a) Claisen rearrangement b) Hofmann rearrangment
c) Cope rearrangement d) Pinacol-pinacolone rearrangement

Identify the name of rearrangement in the following reaction

heat 2,

a) Cope rearrangement b) Hofmann rearrangment

c) Claisen rearrangement d) Pinacol-pinacolone rearrangement




The following reaction involves the formation of ----------------- intermediate.

6
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a) ketene b)nitrene
c) free radical d)carbanion
7 The following reaction involves the formation of ----------------- intermediate
o hv N Ph
Ph N, cyclohexane 8] N 0O
H
51% 40%
a) nitrene b) carbene
c) carbanion d) free radical
8 The following reaction involves the formation of ----------------- intermediate
© o
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Cu, PhH, reflux éAR'
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R R
a) carbanion b) carbene
C) nitrene d) carbocation
9 Give the name of following rearrangement reaction.

e NMaOH, Cls or Brs 1
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2 R3
a) Curtius rearrangement b)Lossen rearrangement
c) Hoffmann rearrangement d) Cope rearrangement

10

The following reaction is not a example of [3,3] sigmatropic reaction.
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a) Claisen rearrangement b) Cope rearrangement

c) Witting rearrangement d) none

11

The following reaction is not a example of pericyclic reaction
a) Claisen rearrangement b) Cope rearrangement

c) Diels-Alder reaction d) Schmidt rearrangement

12

The following involves two pericyclic reactions. Which combination indicates

correctly the types of reaction involved?

Ph Ph
Ph Ph
Ph Ph

0+||—:- + CO

Ph b Ph Ph
Ph
Ph

a)[4+2] cycloaddition + [2+2] cycloreversion
b) cheletropic reaction + [4+2] cycloaddition
c) [4+2] cycloaddition + [4+1] cycloreversion

d) [4+2] cycloaddition + cheletropic reaction

Answer d
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Which of the following reactions is classified as a sigmatropic rearrangement?
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Which of unsaturated aldehydes (a)-(d) is the sigmatropic

rearrangement product obtained by heating the following ether-

P Vs a L:l--

@\ D\/:|/
.
a) b)
{O‘\ {C'/
— s
d)

\

/

15

Which of the following reactions is classified as an ene reaction?
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16 | Which of adducts (a)-(d) is the main kinetic product of the following Diels-
Alder reaction?
OPh




Which side-chain carbon makes a new bond to the benzene ring upon

17
Claisen rearrangement of the following allylic phenyl ether-
2 L, 4
C/DW
a) C1 b)C2
c) C3 d)C4
18 | Which of the following is classified as an electrocyclic reaction?
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19 Which of the following is most stable intermediate?
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20 What is the intermediate formed in the following reaction
Me Me
NQ v
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a)carbanion b) carbocation
c) free radical d) carbene
21 | Which carbocation is the most stable?

\M)\ W\&}/l\
a) ® b) .
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The reactive intermediate involved in the following reaction is:

bl S S
Br NH—Me T
M

a) a carbocation b) a carbanion

c) a free radical d) an aryne

23

The major product formed in the following reaction is...

BnO
% N, Eh,(OAc), -
CH,Cl,

re ﬂux

A

(1.) (2.) (3.) (4.)
Answer (2)
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Which of the following dienes cannot undergo Diels-Alder reactions?

a))v/ b)M\//
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25 Which of the following dienophiles is the most reactive in normal Diels-Alder
reactions?
a) Z “COMe b) Z “OCOMe
Me
0 Zco,Me d) ~F " co,Me
26 | ldentify the name of the rearrangement involved the following reaction
a) Pinacol-pinacolone rearrangement  b) Claisen rearrangement
c¢) Hofmann rearrangment d) Cope rearrangement
27 | ldentify the name of the rearrangement involved the following reaction

Ph A Ph
Ph R BROH Ph OR
O N O
a) Claisen rearrangement b) Wolf rearrangement

¢) Hofmann rearrangment d) Cope rearrangement
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Which is the correct statement about neighboring group participation ?
a)  Retention of configuration b) Neighbouring group should have syn
configuration

c) Inversion of configuration d) No change in rates of reaction

Following reaction is a example of

ﬁ

H/\cogus

SBTDM\ _— SBTO NS
SnCls
78°C weo,c— “om

(F1%)
=99% anti

a)Ene reaction b) Chelotropic reaction

c) Sigmatropic reaction d) Group transfer
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Which of the following statement about pericyclic reaction is not true
a)Pericyclic reactions are concerted reactions

b) Pericyclic reactions proceed through cyclic transition intermediate
c) Pericyclic reactions are not stereospecific

d) Pericyclic reactions require light or heat

30

What is the product of the following electrocyclic reaction?

Se —




